2.19, 2.36, 2.51, 2.52, 3.3, 3.27, 3.37

2.19

A)

         Category              Frequency         Percentage

             A                          13                      26.00%

             B                          28                      56.00%

             C                          9                         18.00%

Total                                 40                       100%

B) You can conclude that category B is used with a frequency over fifty percent of the time and has the highest percentage. While Category c is used the least frequently at a rate of only 18% of the time.

2.36

A)

         Bulb Life         # of time Manuf A      % of A               # of time Manuf B      % of B  

     650-749                 3                            7.5%                        0                                0

      750-849                 5                           12.5                          2                               5

     850-949                 20                            50                           8                               20

     950- 1049              9                             22.5                        16                              40

     1050-1149             3                             7.5                           9                              22.5

     1150-1249             0                              0                             5                              12.5

Total                           40                           100%                       40                              100%

B)

Less Than (the following)     # of A      % of A less than           # of B        %of B less then

750                                          3             7.5%                              0              0

850                                          8              20                                 2              5%

950                                          28            70%                              10            25%

1050                                        37            92.5%                            26            65%

1150                                        40            100%                             35            87.5%

1250                                        40            100%                             40            100%    

C) Bulbs from Manufacturer B have a longer life overall. When you look at the stats from the graph from part B you can see that 70% of the bulbs from Manufacturer A have a life of 950 or below. Only 25% of the Bulbs from Manufacturer B have a life less than this point which shows that overall they have a longer life average. The other statistics above support this claim.

2.51

A)                                                                     

Dark Chocolate Ordered Array

.55   .57   .57   .68   .72   .77   .86

.90   .92   .94   1.14  1.41  1.42  1.51                          

B) Stem-Leaf display

   .5 | 577

   .6 | 8

   .7 | 27

   .8 | 8

   .9 | 024

  1.1| 4

  1.4| 12

  1.5| 1

C) I think that the Stem-Leaf Display provides more information because you can more clearly see where the prices fall. You can also more closely observe where price “Clusters” occur. While we are not dealing with a lot of values if we did indeed have a lot more it would be a lot easier to look at a stem and leaf instead of the individual values.

D) There are two different values which have three similar values within a range of .04 ( 5.5 has three values within .02: 9.2 has three values within .04). While these two separate “clusters” occur the majority of the values are not clustered together they are instead dispersed throughout the range of the value. So I instead of saying that the costs are concentrated around a particular value I would instead say that the values vary in concentration throughout the stem and leaf display. 

2.52

A)
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Percentage polygram
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B)
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C) Between intervals 120-180

3.3

A)  Q1= 23+1 / 4 = 6 or 18             Q3= 3 (23+1) \4 = 18 or 22    Interquartile range = 22-18= 4       

B)   Xsmallest     Q1    median    Q3      Xlargest

          16              18        20      22          24

C)Rectangular distribution
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3.27

A)   Q1= 13+1/4 = 3.5 or 23.5          Q3 = 3 (13+1)/4 = 10.5 or 44.5 

       Interquartile range = 44.5 -23.5 = 21

B)   Xsmallest     Q1    median    Q3      Xlargest

        7                23.5      30.5        44.5          54

C)   Right-Skewed Distribution
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3.37

a)  7+5+11+8+3+6+2+9+8 /  10 =6    Population mean =8

b) 1+1+25+4+9+0+16+25+9+4   / 10 = Variance = 9.4

Square root of 9.4 = standard deviation = 3.065

